.-.Tl )f.? :“‘/

Algebra 2 Rums
Midterm Exam Review
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:" I'-3, identify the parent Junction graphed by writing the name or the equation. Then identify the type of
ymmetry and the domain and range (using interval notation).

1, 2. i 3.

Parent Function: <7 bsolrde volss Parent Function: ) el Parent Function: ,{;'} 1l

S}‘l‘l‘!ﬂ'lEtl‘)' }‘_-;:"\il S S}mmﬂw '}r FAl N, Sy'ﬂimetry' ‘f‘ :';]'i!r )

D: _(-=2,0) D (0,2 ) p._(~~,=)
.lf.ui""f‘) (I ( S |

R: ] R: i L R: ..rj

In 4 — 6, using the graph of fix) = |x| as a guide, describe the transformations of each function and identify
its domain and range.

¥

&

4. glx)=2|-4 3. hix)=-2x=3]+1 L6 kx)=02k+1]-2
\__I
Transformations: . ransformations: |/ // 7~ ght 7, fl‘ ransformations: y
Vel ‘*5'?’( 'J'r_'(' o y < L i reflilec hor 19 .';"*, left r’rJ Ao~ <,
foc fa of <, S +ER ki) x-e-xH, verl ffrehh 2] ‘t/f verfricat (”:Jf; }.),!‘":J?"f?‘l
- s il = 5 “j e
D: (*"SJQ‘J] D: ( 2 ) D: ( o# e )
R: E‘i’,“‘” R: ('f"";‘r] R: ['_“‘?f"‘,)
In 7 - 8, write a rule for the piecewise function.
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In 9 - 10, graph the absolute yalye JSunction. State the domain and range.

. Vertox =1e-2 Yortox.
9 fixy=2jx+1|+3 ey 10. fin)= 3k V 72,0)
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In 11 - 12, solve eqch three variable system.
/
11, 2x=2p+z=3 ’Z/x_,j;yfz_ = 7 12. 3x+2p=12 CZ 2 )
“7 (Sy-z=3D + 2y-5z=1 > jf 57
REYU=A) 2x-0y Jz2 42 s(4ptgne) e 5 . sﬂ
-fy-3zZ=45 N -/S5x-2/ =-93
S-ed=z==31 -ff):.%z:‘?? E C{ﬂ-?ji o def(,u

@ 23y z 134 ~tly = -35
X=1¥ +2=-2/ @ Axtlb =iz @
xX= -5 T Sx=¢
[Cs-¢,1) <> I
In 13 - 17, perform the indicated operation.

13. f,v4f‘+3xz-3x}+(— i 3+5x3-8:»f:+1)
[~ren” =25 T2 FXT —tix S

14. (3x? —7x+4) - (=4x? —12x+8)

7)(' + 3 - ey

2
17.6x-17 [ R % _ j}( 7
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18, Classify each function

by its function Jamily. Then describe the transformation of the parent function.

State the Domain and Range, et
. gy =7 D (-=,~) | (b hx)=x+5 D (> = |
ralg ) f i f <, o ./J
Aond Font i {r?j J /WL.:,/..:?':«.M” v 8 r"r e
it et g e R e 3 Sernee ERE — _
[Ch)=x-9 D (-#~) (a g = Lx -1+ 4 p: (-~ J‘
Jy\. (- ~2) L. L9 /
S [ | absolote volve /5 9 4
\/!/rt'f’sr’_ al _rhH 4’;1" - G (li I e ;I;l,,f/-’/"": a4 .F_.r- {4 T f"} ; ,‘ }/ 4
e g(x) = ~(x+6) -5 T ;Jh{x}:]x_—'? “L |
D (=, ) o o Ewyid )
G uvactra $ic Lol J./‘W T g o f -, =) '
. Fi l,f}r" r:(f'-r S I{
reflocho 0 ACX J?—J by 3, davin 7 __JJ
f{’,{f' ("'_J Ln{'a‘,.w j T J §
oF completely.
19. x? —3x-28 20. x* +19x + 90
(x-7) (x+49) ( Xr/0)(X+7)
21, 4x% -1 22, x' —14x* +49
- ) 2 4
(2x +1) X! (it= )
23. 8-x° 24, 3x* -27
2 ; 2
(2-x)(4+ 2x+X") x>
,;"(X 20 A-2 )
|
25. .1'3+x2}|—9x—9 26. 8x° —18x? - 5x
X+ ) =YX+l ) v (#x*-10x -5)
-5 3

[oxe3 s

27. x* -5x-36

(’){—‘})(){*“f)

29. 4x* -3x-1

CYx+ )X 1)

X (%t 1 )(2x
28. x* - 64

(<t #)x =4/
30. x’+5x’£+x+5
X259 H1(X+5)

(X'zﬂ )(x+5)
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Find the value of ¢ that makes the
expression as the square of a binomial,

Jl. 2 +8x 40 C = /L 32, X4 ldx+e

expression a perfect square teinomial, Then write the

(xt4)* e 97
( X 7)L

Solve using any method,

3 x? —-64 M, 2P +5=41
& X7 T L = 1f

1 " 4 - _
35, x'+x-1=0 36. 267 4354520

Y= -j’ i :7_9’(])("5)

(z)

e i 20 S Uy

3T x*=5xt4d=0

Ex® - Yx-13 =0 )
(X+2)M(X-2Y(XF#I) x=1)=0O %

39. x*-5x-14=0 40. 4x* -12x= -9
2z e
Yy Sty # 2P
# and type of solutions: L real # and type of solutions: / réal

(-5) =41 )~1) (~12)° -4(4(1)
1% %
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